@ZE\“E ©@DPDP)  E1TyMIRHH=7n-5-2345~ Iner Type Lingar Roller Sliders with Lubrication Unit

LSIJ series qaq@® (017220

L,
2 X 2-4BIH7IM Lo
(1ksHH )

G, nxP (Gn)
Lmax
L,
Lo L. —‘
Hs

HEAR

4

Cy—

E—AUNA@A

LS1J3522~6545 LS1J8054 G P (G.]

* $EMOMRZIEARATUT LD R DES L THRBLTFELY.
®: LSV Y—XTikF Bifi : mn
& FiSIZRRES Fr )y stk L —SE L—L~HE miARE = FEARE) TERE i H B =71

Mx My Mz Cy Gz Fyloy L— RREX

H % Wi L1 L2 W2 H3 Ha S M Hi He h W3 P Gm D d f (N+m) (N+m) (N+m) N) (N) (k) (kg/m) Lmax
LSl2519 | 19 | 25 | 25 | 90 | 28 | 18 | 62 | 37 | M4 | M3 | 8 |115| 3 | — | 100 | 25 95 | 45 | 25 5.93 15.7 27.7 1100 850 013 0.51
LSl3522 | 22 | 35 | 35 | 110 | 30 | 25 | 65 | 4 | M5 | M3 | 107 | 142 | 4 | — | 100 | 25 95 | 55 | 3 12.2 236 476 1800 1040 0.21 1.00
LSl4528 | 28 | 45 | 45 | 140 | 40 | 30 | 7 |35 | m5 | ma | 13 [185] 55| — | 100 25 1 | 66 | 35 205 560 13 3410 1970 0.40 1.70 1000
LSIJ5538 | 38 | 55 | 55 | 180 | 45 | 40 | 125 | 625 | M6 | M6 | 165 | 235 | 57 | — | 100 | 25 14| 9 | 25 56.3 105 213 5360 3100 1.03 2.65
LSlUe545 | 45 | 65 | 65 | 230 | 60 | 50 | 14 | 7 | M8 | me | 195|285 | 57 | — | 100 | 25 14| 9 | 35 146 261 531 9950 5740 192 3.55
LSIJB054 | 54 | 80 | 80 | 280 | 70 | 60 | 16 | 8 | M8 | M6 | 26 | 355 | 7.5 | 40 | 100 | 25 1 | 66 | 45 284 467 962 14230 8210 3.60 480

L—IL#E : 6000R7ILI=9 L+BTILTA+
Fo)yOHE  NIDUTERSSA00+ =R AR, RTYLSSUI-2

LSIJIGS45 -1 X1850 S -Gm20-Gn30 -SGK2 -CU2

DREFL= Y (P.30BR)

L FhBETL - (P. 20868)
SG:£Wmh/N\—4%14T
SGK:{lYREL(T

B E L=IEE

MO L—LERA R E
- RGmTEIEEEL DB E IFHEIRY S (FITEYES (Gn=Gn).
£ RO R ERGDIBEITIEGm, Gn&IEELTTEL.

L= WA KIERTS
Frly M

HBA1IE

IS Su-2

S: SUS440CHE Y
* RRESHEAIIELNGIES, 2UFA-rECABLTEYET (P30 SB). JRITEENBRECRYET.
*LSIY—ADEBELELT, L—ILEIZIELRL No.35 ) —RE MBI =Y MIZOZAK JIF AL ELKBLTTELN.

Thpﬁﬂ:j l,_ |\ BB DA YT DT NG LEHEE. )

T )y DH B R 2 EAN—2A TENN—E R} H=FF
Fr) P DIREELNARLGYIYREZ(T D2 FEECHELTHYET.
*3E  L—ILISBMIZET5H0TL—ILEyhTITEX TS,

LEHN—E1TSG PURE LML TSGK

*3E1 : L—ILOBEEIZELSUZS I RARM MR M EZR LA OBF - DEEL TIAAFNHEER LA EHER T .

*3E2 1 2000mmEAEDIFE, L—LREIEORELLYES. FHLAIBME IS

Wo
D T
SEH/S—54TSG T YR ESAFSAK
H “:|: @C,yij*: Jl(} -
[ |
2-M1x 21 2-M1x Q1
R ThBLETL—HER BAT  mm
i Hp Wp Ws T M1 X 01
LSI255G 1 2 - 16 M2 X 6
LSI355G =
14 34 7 M3 X 10
LSI355GK 185
LSI455G =
18 44 22 M3 10
LSM5SGK 23
LSI555G =
23 54 24 M4 X 10
LSI55SGK 29
LSI65SG —
28 64 24 M4 X 10
LSI65SGK %
LSIB0SG =
35 79 30 M5 x 12
LSIB0SGK 52

20



29

(NZE @ppd LSI oHE1=k

LSI-CU series €€€@® @Z@[@

LSI DGEFI=—WA

EDa—I)LiEShi="2HFEFI=YN
10~20mER A2 DR AV fE BN

T

6-s

T R
MIMEOLEAE o nmmmy 150 BAAMEY 150

il I |

/

[——ez———<>—,’i—¢———a———|—' E '—|--—e——-e>—-”—q>———e>—-|

100 ‘ ‘ ‘ 100
50/ P100x18=1800 | 75 | 25 25 | 75 P100x18=1800 |50
BRI L—LEY 1925 Lsg] BATL—LEY 1925
LSI35CU
. BAAEEY 1950 ‘ , BAKEEY 1950 ‘

Fe—9 "9 o [ —e— T o 9% % & |

1

100 100
50 P100 % 18=1800 50 50|50 50 P100 x 18=1800 50
TERI L—LEY 1900 100 FRI L—LEY 1900
LSI45CU, 55CU, 65CGU
PEIER DT R E ‘ BXhEEY 1900 ‘
25 25 25 25
- =

== =

= ' ' =1
s ||

75 25 25 75 P100 x 17=1700 75| 25 25 75

150/ BATL—LEY 1850 50
LSI35CU
‘ BAREEY 1900 ‘
50 50 50 50

; L

S e | L& e % & || e

f 7

100
ﬂl 50 ‘ 50 50 P100 % 17=1700 50 50 ‘ 50 \ﬂ

100 BAT L—LEY 1800 100
LSI45CU, 55CU, 65CU

#:LSI-CU DHEFI=—whTEE B :mm
Al & H Hi W L L1 D d f S pepnitls
LSI35CU | 142 | (148) | 35 50 25 95 5.5 3 M2.5 LSI3522/LS1J3522
LSI45CU | 185 | (19.1) | 45 100 50 1 6.6 35 | M25 LSI4528/L.S1J4528
LSIS5CU | 235 | (25) 55 100 50 14 9 25 M4 LSI5538/LS1J5538
LSI65CU | 285 | (30) 65 100 50 14 9 35 M4 LSI6545/LS1J6545

*LSI25CU, 80CU 1= D=L C k. BlRBRLEHE REL,

30



